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Candidates are required to give their answers in their own words
as far as practicable.

NGRS F1Sf 2 oI
IECRE

S| I I AveE TeR 1S 8 X0
(F) srETed wdfes AfFwsa ¥ 1@ @Y Sww It
(}) oRoR FLISTe AR SFCT IS TR @A U6 IR Tem |
(o) SIFTe IMMTTE AT FREF PV @R AR @0 AL Fo
() OIRTS Sodd AA T HLATF TS 2RSEA 47 T G FoiR ARSy Whrz?
() oETe i AEIET @@ 1o Sy [Rge st
(5) SiFre e Mem MTF AuEe @6 e
(%) FERA 93t FEMA-93 iy (e |
(&) o ¥l wHEF R CFE SRS AT 4R 46 A o S |
@) orTe FR 9 Mem g @A g3 st e s wets o 3
(9e) SIFTS Spvo-a7 FPIS! WwitF Mamae qasifon 7o Fraet Swre |
(%) orawe Ref aers Rt Swiifee Faw P @7 Firaef Sure st
(3) Sabo-a7 WHIF SACS JWReH 5i7 Fged & 92 76 =4 sMrse S e |
(T) SRS aliifiel AT @it fowi St Foit =t |
(v) SiFTe AT FARITES IR 24 IRl T e
() orTe Fer A% ARewar = el Sey sl

Please Turn Over



[K(II)Economics-H-4B] (2)

R

9|

8|

ed]

et
I 315 2vaim Geame ¢ )

SIS WIHEE (e SEReelE T FE 3R @3 TR 73 97 G [y SoimEe 397 24w |

v+8

SIS @ A @i 76 wdmfoT @Yy < i egfersie 7ME S @ OIS (I) WY 95,

() T R, @R () IR Tesime I Toix e Rawe 2ol A3 @t JIEHIHIHAY
e v m-TfeT Srrdets § Ree qrw 8 weee B & Soroft meime e 2aze ot
&l | @+

SRS AT Fw S Aot A SEpEeE wE 4 A4 TR wiEsa st so

[ENGLISH VERSION]

The figures in the margin indicate full marks.

Section-A

Answer any ten questions. 2x10

(a) Mention two basic characteristics of Indian economic planning.
(b) State any two causes of structural backwardness of Indian economy on the eve of planning.
(c) Distinguish between minimum support price and procurement price of food grains in India.

(d) How did the development strategy change in India following the adoption of New Economic Policy
in 1991?

(e) State any two objectives of land reforms in India.

(f) Why does an infant industry need protection in India?

(g) Distinguish between FERA and FEMA.

(h) Mention two major schemes implemented by the Government of India to generate rural employment
in India.

(1) Indicate the supply-side and demand-side linkage between argiculture and industry in India.

() Mention two reasons for the slow down of India’s industrial growth during mid-1960s.

(k) Mention the basic reasons behind promoting foreign direct investment in India.

(I) Mention two major steps to control the inflationary pressure in India during 1980s.
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(m) State any three sources of rural credit in India.
(n) What are the main causes behind implementional failure of planning in India?

(0) Mention the basic features of Second Five Year Plan in India

Section-B

Answer any three questions. 10x3

Explain the causes behind regional inequality in India and suggest some corrective measures to overcome
this problem. 644

State any two economic characterics and two technical characterics of Green Revolution in India. Examine
the impact of Green Revolution on (i) income inequality, (ii) employment generation and (iii) output
growth in Indian agriculture. 242424942

What were the objectives of price policy in Indian agriculture? Have the outcomes fulfilled those objectives?
Explain. +
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Discuss the major problems that developed as a result of the import substitution policy adopted during
the plan period in India. 10
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